CLASS : 12th (Sr. Secondary) Code No. 1214
Series : SS/Annual Exam.-2024

Roll No. SET : A
ﬂfilf’l MAP
GEOGRAPHY
[ <l o Sfist AreaH |
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

&7 : 3§72 ] [ g% : 60
Time allowed : 3 hours | [ Maximum Marks : 60

o FUT TG F T [ 57 F9T-7H § GRT § 15 79 797 26 &1
Please make sure that the printed pages in this question paper are 15 in number
and it contains 26 questions.

o Jo7-7H ¥ e & @ G T T8 FS TEY Tl §e F OH F-Yiaw F JEI-g8 97
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T FH TV [iET J@ VT & Yee, F9T H BHF ST [
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @l §i,/9 T 85

Don’t leave blank page/pages in your answer-book.

o FT-YRTH % SIRFT HF o dMe Tel A o SERIEagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1214/(Set : A) P.T.O.



(2) 1214/(Set : A)
o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o FE A T
frd sit dmfoqs 797 & Gkl q¥ el J@re @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % T 37 @ {4 F GEAlEd #Y @ [ Fe7-0F {7 T 78 8, g # I 59
T § Bl A qar & T8 B AIm

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
() @ g7 Iart &

(i) FEOF FIT & F IGH @I 9T T 8

(iii) F97 & TV F7% HHFEN @

(iv) 797 G&IT 26 GRT & TFATT F 907 @ T80T &1

(v) 9RT & T B TE ST FA-YRaE % T Forga @ e

(vi) T GT Y FC-Gika # B T g

1214/(Set : A)



(3) 1214/(Set : A)

General Instructions :
() All questions are compulsory.

(i) Marks for each question are indicated against it.
(iii) Answer the questions according to their marks.
(iv) Question No. 26 is related to filling the outline map of the India.

(v) After filling the map of the India it should be securely tied in the middle of the

answer-book.

(vi) You must write your Answer-book Serial No. on the map.

T - %
PART - A

e ;39 9 F G UsT 1-1 37% B 2|

All questions of this part are 1 mark each.

1. Frefafed & @ @IF-81 06 99d I & ST 78 & ° 1
(A) &=l i
(B) HETHS =
(C) TN e
(D) 3TN &R Ui

1214/(Set : A) P.T.O.



(4) 1214/(Set : A)

Which one of the following is not an approach of Human Geography ?
(A) Regional Variation

(B) Quantitative Revolution

(C) Spatial Organization

(D) Exploration and Description

2. Frfafad $ & TRl & § HH-91 THR Hi-38 B B THR & 7 1
(A) g Sie faie i

(B) faega @i o i

(C) ST Fafes H

(D) flE B

Which of the following types of agriculture is slash-burn agriculture ?
(A) Extensive subsistence agriculture

(B) Extensive commerce grain agriculture

(C) Primitive subsistence agriculture

(D) Mixed farming

1214/(Set : A)



(5) 1214/(Set : A)
3. fHfafad § § HH-91 ST St SNd & FHY a0 A 8 7 1

(A) e FEm

(B) TR FET

(C) Tl I IEN

(D) T JE

Which of the following industries is set-up near the energy source ?
(A) Cement industry

(B) Aluminium industry

(C) Cotton textile industry

(D) Sugar industry

4. TER & SAHIT qeM oA 0 H & f6F @ § afiga g M e ? 1
(A) ARG G
(B) fRgd T
(C) O« gas

(D) NN Taq

1214/(Set : A) P.T.O.



(6) 1214/(Set : A)
Most of the World's great Collapses have been classified into which of the
following categories ?
(A) Naval Collapse
(B) Extensive Collapse
(C) Oil Collapse

(D) Industrial Collapse

5. a8 2011 & T & AR &1 § & 6 To9 § T Sae oiua ddias & ¢ 1

(A) dEEATE (B) HENE

9

(C) &« (D) Mt

According to the 2011 census, which of the following States has the highest

urban population ratio ?
(A) Tamil Nadu

(B) Maharashtra

(C) Kerala

(D) Goa

1214/(Set : A)



(7) 1214/(Set : A)
6. =1 & § FF-ar fifea &= § =i & J&7 TR 8 7 1

(A)  STIHTRl STUREH

(B) &1 SO

(C) aig AIEA

(D) 9 W f¥ee & SHE

Which of the following is the main type of Land degradation in irrigated areas ?
(A) Channel erosion

(B) Soil salinity

(C) Wind erosion

(D) Accumulation of silt on the land

7. Fr=fafad & @ fod To9 & 99 S ST (%) 36 B A9 9 §9d § SR © 7 1

(A) dEEATg

9

(B) ST UasT

(C) Fieh

(D) &

1214/(Set : A) P.T.O.



(8) 1214/(Set : A)

In which of the following States the groundwater utilization (%) is more than its
total groundwater potential ?

(A) Tamil Nadu

(B) Andhra Pradesh
(C) Karnataka

(D) Kerala

8. WNT & TIY T (e IAEH WU HF-1 & 7 1

Which is the largest Bauxite producing State of India ?

9. IR M e -9 491y A Fpa & 7 1

Indira Gandhi Canal originates from which dam ?

10. FHIAHAT TG HH-Al T I STaRed § ? 1

On which river is Kolkata Port located ?

1214/(Set : A)



(9) 1214/(Set : A)
-9

PART -B

T ;39 AN & G YT 2-2 1% B 31 UIF U B ¥ 20 T 30 Il F it B

All questions of this part are of 2 marks each. Answer to each question in 20 to

30 words.

11. 9 ST bl GRAM HiST 2

Define Human Geography.

12. SHEE 9Radd & 7 9eh HiH-hH-9 & 7 2

What are the three components of population change ?

13. I= DEnfrenl I & & 7 2

What is high technology industry ?

14. S URae & F1 aF & ¢ 2

What are the benefits of water transport ?

1214/(Set : A) P.T.O.



(10) 1214/(Set : A)
15. TR SRadt @ FE & AT qarEd 2

Mention any two characteristics of urban settlements.

YqT
OR

SR g q1 F A e g 7 R T B

Explain the difference between barren land and cultivable waste land.

16. ol & STURURS Bid HE-9 & 7 2

What are the non-conventional sources of energy ?

3TEE

OR
ARG & HB T A T T %l ST &7 TN aX Sl ;i 8 7

Why is the labour participation rate higher in some states of India than in

others ?

1214/(Set : A)



(11) 1214/(Set : A)
AT - T
PART-C

dle : 39 97 3 9t U a7 ol B &1 UAS U H IAX 50 § 70 = F (e B

17.

18.

19.

20.

All questions in this part are of three marks each. Answer to each question in 50

to 70 words.

TE T THAET N & 7 3

What is Human Naturalization ?

qg [ SR & ST 99T oIX gad Queiigar € @ g9ed 8 7 3

What is meant by equality and sustainable development under the concept of
human development ?

T IR AT Aoy g § X W Hifei| 3

Explain the difference between nomadic animal husbandry and commercial
animal husbandry.

qRg & oI garesl § s @ HH o W Bl 59 SuNGl B @l [aaer S 3

Water resources are decreasing rapidly in India. Explain its responsible

factors.

1214/(Set : A) P.T.O.



(12) 1214/(Set : A)
21. & FM e ? Hed o} Tl aRadl § oW W Hig| 3

What is Settlements ? Explain the difference between compact and dispersed

settlements.

YqT

OR

qd & oM [ ¥ gss uRaed & Hewd &t faa=mn Sifsm)

Discuss the importance of road transport in the economic development of India.

22, 3R M ToX FAW & F qod Gy G B e & & @7 SuE gERy 3

Suggest three measures to promote sustainable development in the Indira

Gandhi Canal Command Area.

STeE

OR
T8 oiX dem FRarkandl § oW aasdl

Explain the difference between the fourth and fifth activities.

1214/(Set : A)



(13) 1214/(Set : A)
ART - |
PART - D

AT : 3@ 9N B Gl U GEgT Ik B 2 TP 9N F SO 1509 170 9= ¥ i 2

All questions in this part are of five marks each. Answer to each question in

150 to 170 words.

23. R ¥ SEE gis B Ygrdi Sl [ &eeem i 5

Discuss the trends of population growth in India.

YqT
OR

SR HRHYT T B ? STHifhhid GO i T STaeenel i fadem it

What is demographic transition ? Discuss the three stages of demographic

transition.

24. TEF B FN B AFNCEE LA, IURA AR faaweT & Joe i 5

Describe the geographical conditions, production and distribution of rice
cultivation.

1214/(Set : A) P.T.O.



(14) 1214/(Set

STeE
OR

qRd & UEIferad & S SR faaRer &1 aui i

Describe the production and distribution of petroleum in India.

25. ST AU H1 8 ? AU ANN & SR B U dHitord

What is International Trade ? Describe the bases of international trade.

e

OR

a1 TG % HROT G TNMEl H AU i

Describe the causes and effects of Air pollution.

1214/(Set : A)

: A)



(15) 1214/(Set : A)
q -
PART - E

Fle : g8 N AMEE & 9 ST 81 39 AN & KA 9 5

This part is related to map work. Total marks of this part are 5.

26. 9T 3 qHERE ) FEfiiad # gy ¢ 5

Show the following on the map of India :

(i) GEifS STHEE 99  a Tod

Highest population density State.
(i) WRA & H®l IUEH T
Coffee producing State of India

(iti) TS B &
Raniganj Coal Field

(iv) isdl dEB
Kandla Port

(v) B
Khetri

1214/(Set : A)



CLASS : 12th (Sr. Secondary) Code No. 1214
Series : SS/Annual Exam.-2024

Roll No. SET : B
ﬂfilf’l MAP
GEOGRAPHY
[ <l o Sfist AreaH |
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

&7 : 3§72 ] [ g% : 60
Time allowed : 3 hours | [ Maximum Marks : 60

o FUT TG F T [ 57 F9T-7H § GRT § 15 79 797 26 &1
Please make sure that the printed pages in this question paper are 15 in number
and it contains 26 questions.

o Jo7-7H ¥ e & @ G T T8 FS TEY Tl §e F OH F-Yiaw F JEI-g8 97
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T FH TV [iET J@ VT & Yee, F9T H BHF ST [
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @l §i,/9 T 85

Don’t leave blank page/pages in your answer-book.

o FT-YRTH % SIRFT HF o dMe Tel A o SERIEagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1214/(Set : B) P.T.O.



(2) 1214/(Set : B)
o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o FE A T
frd sit dmfoqs 797 & Gkl q¥ el J@re @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % T 37 @ {4 F GEAlEd #Y @ [ Fe7-0F {7 T 78 8, g # I 59
T § Bl A qar & T8 B AIm

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
() @ g7 Iart &

(i) FEOF FIT & F IGH @I 9T T 8

(iii) F97 & TV F7% HHFEN @

(iv) 797 G&IT 26 GRT & TFATT F 907 @ T80T &1

(v) 9RT & T B TE ST FA-YRaE % T Forga @ e

(vi) T GT Y FC-Gika # B T g

1214/(Set : B)



(3) 1214/(Set : B)

General Instructions :
() All questions are compulsory.
(i) Marks for each question are indicated against it.
(iii) Answer the questions according to their marks.
(iv) Question No. 26 is related to filling the outline map of the India.

(v) After filling the map of the India it should be securely tied in the middle of the

answer-book.

(vi) You must write your Answer-book Serial No. on the map.

qT - &
PART - A
e 39 9 ® g U 1-1 3% B gl

All questions of this part are 1 mark each.

1. ¥6R &% SIHS 7eM qad = & § fh| av | aFfiga g @ B ? 1
(A) AT G
(B) TRgd o
(C) o e
(D) SiEfE T

1214/(Set : B) P.T.O.



(4) 1214/(Set : B)
Most of the World's great Collapses have been classified into which of the
following categories ?
(A) Naval Collapse

(B) Extensive Collapse
(C) Oil Collapse

(D) Industrial Collapse

2. 94 2011 & SO & FIER &= § § o W9 F T SEe U it & ¢ 1
(A) dfterTg (B) HeRTE

9

(C) & (D) M

According to the 2011 census, which of the following States has the highest

urban population ratio ?
(A) Tamil Nadu

(B) Maharashtra

(C) Kerala

(D) Goa

1214/(Set : B)



(5) 1214/(Set : B)
3. F=1 § @ aF-ar fifea &= 7 =i & J& TR 8 7 1

(A) SFEICTeRT SIS

(B) &1 {9

(C) arg e

(D) YA W fee 1 FHE

Which of the following is the main type of Land degradation in irrigated areas ?
(A) Channel erosion

(B) Soil salinity

(C) Wind erosion

(D) Accumulation of silt on the land

4. Fefated & @ g 199 § 99 9 ST (%) 3696 F9 GM 9 999 9 6T 8 7 1

(A) dEEATg

9

(B) ST UasT

(C) Fieh

(D) &

1214/(Set : B) P.T.O.



(6) 1214/(Set : B)

In which of the following States the groundwater utilization (%) is more than its
total groundwater potential ?

(A) Tamil Nadu
(B) Andhra Pradesh

(C) Karnataka

(D) Kerala
5. Frffad § @ $H-91 6 A9 SFIA H SUFH 78 o 1
A) &=

(B) HETHS =

(C) ¥HF e

(D) 3TN &R Ui

Which one of the following is not an approach of Human Geography ?
(A) Regional Variation

(B) Quantitative Revolution

(C) Spatial Organization

(D) Exploration and Description

1214/(Set : B)



(7) 1214/(Set : B)
6. FREd PN & FHRI § & BHH-A1 THR FIT-861 P H THR © 7 1

(A) fegd ot frate

(B) TG o™ ST FY

(C) s fates PN

(D) e 39

Which of the following types of agriculture is slash-burn agriculture ?

(A) Extensive subsistence agriculture

(B) Extensive commerce grain agriculture

(C) Primitive subsistence agriculture

(D) Mixed farming

7. Frfoiad § @ SF-81 T Hot Bl & qEIG I S 5 7 1
(A) HHe I
(B) T T
(C) Tl &% JEN
(D) T IE

1214/(Set : B) P.T.O.



(8) 1214/(Set : B)

Which of the following industries is set-up near the energy source ?
(A) Cement industry

(B) Aluminium industry

(C) Cotton textile industry

(D) Sugar industry

8. 3R et e -8 91y A Feparal ® ? 1

Indira Gandhi Canal originates from which dam ?

9. FHIAHAT T HH-Hl T I STaRed § ? 1

On which river is Kolkata Port located ?

10. 9Rd & G99 g7 JEEe IdEH o9 HF-91 & 7 1

Which is the largest Bauxite producing State of India ?

1214/(Set : B)



(9) 1214/(Set : B)
qa - g
PART - B
e ;39 9 & G YT 2-2 3fF B 21 UIH U B SA¥ 20 § 30 Ikl qitwd o

All questions of this part are of 2 marks each. Answer to each question in 20 to

30 words.

11. T IRt # B &7 FAvad saEd 2

Mention any two characteristics of urban settlements.

e
OR

SR g q F A e g 7 TR T B

Explain the difference between barren land and cultivable waste land.

12. SHEE GO & e B aid @7 G Bl B Ieid BT 2

Mention three geographical factors affecting population distribution.

13. HFE TN bl GRHAN HioT 2

Define Human Geography.

14. ol % STURURS g HE-9 & 7 2

What are the non-conventional sources of energy ?

1214/(Set : B) P.T.O.



(10) 1214/(Set : B)

OR
AR B FB T A ST T Bl ST &7 TG aX et H;f 8 ?

Why is the labour participation rate higher in some states of India than in
others ?

15. 3= Greifien Iga a4 B ? 2

What is high technology industry ?

16. S URae & 1 A9 & ¢ 2

What are the benefits of water transport ?

A - 7
PART - C

e : 29 9F B Gt U a7 ol B &1 U U H I9X 50 § 70 = F (% B

All questions in this part are of three marks each. Answer to each question in 50

to 70 words.

17. G & oTiie faerd ¥ 9% uRaey & Hew @l fad=mr s 3

Discuss the importance of road transport in the economic development of India.

1214/(Set : B)



(11) 1214/(Set : B)

OR

&I 1 B ? Hed ol Yol Ifadl ¥ SR W Sy

What is Settlements ? Explain the difference between compact and dispersed

settlements.

18. =Y AR d=W frameead SRR adEal 3

Explain the difference between the fourth and fifth activities.

STeE
OR

R e ToX FAH A H A G fEE B FgrEr 3 & #fF U gIHEy

Suggest three measures to promote sustainable development in the Indira
Gandhi Canal Command Area.

19. WG P THNHT M 8 7 3

What is Human Naturalization ?

1214/(Set : B) P.T.O.



(12) 1214/(Set : B)
20. A {JHH STEURET & Sd gHdr SlX dad Q9onedr | F1 9Hed § ¢ 3

What is meant by equality and sustainable development under the concept of

human development ?

21. Tl UERT AR A G § R W i) 3

Explain the difference between nomadic animal husbandry and commercial

animal husbandry.

22. 9Rd § I GEEEl § oot § A o W Bl 39 ITNER! B @l e S 3

Water resources are decreasing rapidly in India. Explain its responsible

factors.

{1 -9
PART-D

AT : 3@ 9N B G U GEgT Ik B 2 TP U9 H SO 150 9 170 9= ¥ i 2|

All questions in this part are of five marks each. Answer to each question in

150 to 170 words.

23. TEA H PN B ARNH WS, IQEA AR AT H o HIo) 5

Describe the geographical conditions, production and distribution of rice

cultivation.

1214/(Set : B)



(13) 1214/(Set : B)

qRd & UEIferad & S Sl fadRer &1 auie i

Describe the production and distribution of petroleum in India.

24. IUSIT U H 8 ? AU ANN & SR B U Hitord) 5

What is International Trade ? Describe the bases of international trade.

YqT
OR

a1 TGO % HROT g TNMEl H AU i

Describe the causes and effects of Air pollution.

25. AR § S9EEd gia B qgiidl @ e i) 5

Discuss the trends of population growth in India.

1214/(Set : B) P.T.O.



(14) 1214/(Set : B)
AYAT
OR
SiTRehra HeBHOT 1 & 7 SThhid BT @ STaeal d fae it
What is demographic transition ? Discuss the three stages of demographic

transition.
qAT - &
PART -E

dle : q AT S & | Hed 51 39 A & F 8% 5 8l

This part is related to map work. Total marks of this part are 5.

26. YT D HARE W EGRId H E91sT 5

Show the following on the map of India :
(i) HISA SEETE

Kandla Port
(i) T

Khetri

1214/(Set : B)



(15) 1214/(Set : B)
(il) TIRIST e &

Raniganj Coal Field
(iv) WRA & H®l s T

Coffee producing State of India

(v) WEie e 99 a9

Highest population density State.

1214/(Set : B)



CLASS : 12th (Sr. Secondary) Code No. 1214
Series : SS/Annual Exam.-2024

Roll No. SET : C
ﬂfilf’l MAP
GEOGRAPHY
[ <l o Sfist AreaH |
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

&7 : 3§72 ] [ g% : 60
Time allowed : 3 hours | [ Maximum Marks : 60

o FUT TG F T [ 57 F9T-7H § GRT § 15 79 797 26 &1
Please make sure that the printed pages in this question paper are 15 in number
and it contains 26 questions.

o Jo7-7H ¥ e & @ G T T8 FS TEY Tl §e F OH F-Yiaw F JEI-g8 97
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T FH TV [iET J@ VT & Yee, F9T H BHF ST [
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @l §i,/9 T 85

Don’t leave blank page/pages in your answer-book.

o FT-YRTH % SIRFT HF o dMe Tel A o SERIEagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1214/(Set : C) P.T.O.



(2) 1214/(Set : C)
o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o FE A T
frd sit dmfoqs 797 & Gkl q¥ el J@re @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % T 37 @ {4 F GEAlEd #Y @ [ Fe7-0F {7 T 78 8, g # I 59
T § Bl A qar & T8 B AIm

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
() @ g7 Iart &

(i) FEOF FIT & F IGH @I 9T T 8

(iii) F97 & TV F7% HHFEN @

(iv) 797 G&IT 26 GRT & TFATT F 907 @ T80T &1

(v) 9RT & T B TE ST FA-YRaE % T Forga @ e

(vi) T GT Y FC-Gika # B T g

1214/(Set : C)



(3) 1214/(Set : C)

General Instructions :
() All questions are compulsory.

(i) Marks for each question are indicated against it.
(iii) Answer the questions according to their marks.
(iv) Question No. 26 is related to filling the outline map of the India.

(v) After filling the map of the India it should be securely tied in the middle of the

answer-book.

(vi) You must write your Answer-book Serial No. on the map.

M - %
PART -A

Al 39 A B G US 1-1 3% B 2

All questions of this part are 1 mark each.

1. Frefared SN & JBRE § § HH-91 T6N Had-a69 PN H THR & 7 1
(4) g S Fate F
(B) fawga afere e P
(C) oMM Fafes HN
(D) fafa

1214/(Set : C) P.T.O.



(4) 1214/(Set : C)

Which of the following types of agriculture is slash-burn agriculture ?
(A) Extensive subsistence agriculture

(B) Extensive commerce grain agriculture

(C) Primitive subsistence agriculture

(D) Mixed farming

2. fefaRfad § § HH-91 SE St Sd & FHY I A 8 7 1

(A) e IEE

(B) TcgMiE &M

(C) Tl a& JEN

(D) = &

Which of the following industries is set-up near the energy source ?
(A) Cement industry

(B) Aluminium industry

(C) Cotton textile industry

(D) Sugar industry

1214/(Set : C)



(5) 1214/(Set : C)
3. ®OR & SIeis 7 yaw e & & fpw ot & aifipa fom o R ? 1

(A) O Tad
(B) fa&a waw
(C) q« gad

(D) NN Ta

Most of the World's great Collapses have been classified into which of the

following categories ?

(A) Naval Collapse

(B) Extensive Collapse

(C) Oil Collapse

(D) Industrial Collapse

4. 94 2011 % SO & FPAR = T F o T § FT SEE FIUQ qaiis & 7
(A) TG
(B) HeRT
(C) &

(D) Mar

1214/(Set : C) P.T.O.



(6) 1214/(Set : C)
According to the 2011 census, which of the following States has the highest

urban population ratio ?
(A) Tamil Nadu

(B) Maharashtra

(C) Kerala

(D) Goa

5. fr=ifafad & & fod To9 & 99 ST ST (%) 36 A 99 @ §9d § SRl & 7 1

() dfETg
(B) T RS
(C) FHHieH
(D)

In which of the following States the groundwater utilization (%) is more than its
total groundwater potential ?

(A) Tamil Nadu
(B) Andhra Pradesh
(C) Karnataka

(D) Kerala

1214/(Set : C)



(7) 1214/(Set : C)
6. =1 & § FF-ar fifea &= § =i & J&7 TR 8 7 1

(A) ST STUEH

(B) &1 SfqEIe

(C) aig AIEA

(D) ¥ W f¥ee & SHE

Which of the following is the main type of Land degradation in irrigated areas ?
(A) Channel erosion

(B) Soil salinity

(C) Wind erosion

(D) Accumulation of silt on the land

7. Ffofad & § $F-91 T AMa T B SIFH 78T 8 7 1
A) &=
(B) A Shiiw
(C) w<e G
(D) 3TN &R Ui
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Which one of the following is not an approach of Human Geography ?
(A) Regional Variation

(B) Quantitative Revolution

(C) Spatial Organization

(D) Exploration and Description

8. PIFHET T HF-G Tl I STARYT & ° 1

On which river is Kolkata Port located ?

9. YT % IS4 o1 dFEe IS U9 HIH-d1 8 7 1

Which is the largest Bauxite producing State of India ?

10. 3R e e -8 §1g q Fepat ® ? 1

Indira Gandhi Canal originates from which dam ?
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qT -

PART -B
7T ;39 A & G YT 2-2 1% B T UIF U B SAX 20 T 30 gl F it B

All questions of this part are of 2 marks each. Answer to each question in 20 to

30 words.

11. XA & FB T A o Tl P TR o7 FERw X St ’f 5 7 2
Why is the labour participation rate higher in some states of India than in
others ?

AYAT
OR

ol & FURURSE B HIT-9 & ?

What are the non-conventional sources of energy ?

12. 99 ¥ foRd S99 89 a7 el @ A9 Sy 2

Name three areas in the world with sparse population density.

13. 5 URae & 1 A & ¢ 2

What are the benefits of water transport ?

14. SR g o1 PN a9 @ g F SFR W B 2

Explain the difference between barren land and cultivable waste land.

1214/(Set : C) P.T.O.
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e
OR

T el H Hig @ R aaEd

Mention any two characteristics of urban settlements.

15. HFE ST i GRAMN HifoT 2

Define Human Geography.

16. I= GrENfien Iga F B 7 2

What is high technology industry ?

AT - 7
PART - C

dle : 39 97 B Gt U a7 olh B &1 U U H IAX 50 70 = F (% 2

All questions in this part are of three marks each. Answer to each question in
50 to 70 words.

17. R e ToX FAW & ¥ dqq Awelig e ) qem@r 3 & diF U IRy 3

Suggest three measures to promote sustainable development in the Indira

Gandhi Canal Command Area.

1214/(Set : C)
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T8 oiR oM FRamkand § oW SaEdl

Explain the difference between the fourth and fifth activities.

18. WA P JHHT M S 7 3

What is Human Naturalization ?

19. ARG & S dared § o § HH ST @l ol 36D IR HH I [GaeT i 3
Water resources are decreasing rapidly in India. Explain its responsible
factors.

20. T 1 2 ? Hed SR g aRaEl § o ' i 3

What is Settlements ? Explain the difference between compact and dispersed

settlements.

YqT

OR

qRG & o7 [ & d9e% uRaed & Hew &l fqaamT St

Discuss the importance of road transport in the economic development of India.

1214/(Set : C) P.T.O.
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21. A9 [9HH STEURET & SFd gHdr SlX dad Q9onedr | 1 9Hed § ¢ 3

What is meant by equality and sustainable development under the concept of

human development ?

22. IEEE IYERTT AR AT G § TR T Hi 3

Explain the difference between nomadic animal husbandry and commercial

animal husbandry.

AT - g
PART - D

AT : 3@ 9N B G U GEgT Ik B 2 TP 9 F SO 150 9 170 9= ¥ i 2|

All questions in this part are of five marks each. Answer to each question in

150 to 170 words.

23. ST AU H 8 ? TS NN & SR B U Hiord) 5

What is International Trade ? Describe the bases of international trade.

1214/(Set : C)
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OR

91 TG % HROT G TAEl H AU i

Describe the causes and effects of Air pollution.

24. 9RA H SWEE gie & G B e S 5

Discuss the trends of population growth in India.

3TeE
OR

Sifheb TRHOT T B ? SHihbId GshHT Bl 7 STaENStt i e Hiforu

What is demographic transition ? Discuss the three stages of demographic

transition.

25. TEA H PN B ARNCH IS, IART AT AT H o Hiorg) 5

Describe the geographical conditions, production and distribution of rice
cultivation.

1214/(Set : C) P.T.O.
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YqT
OR

qRd & UEIferad & S SR faaRer &1 auie i

Describe the production and distribution of petroleum in India.
i - &

PART - E

qle : q A S & 9 e 51 39 A & F 3% 5 8

This part is related to map work. Total marks of this part are 5.

26. 9T B HERE W AR B asiE 5
Show the following on the map of India :

() @

Khetri

(i) Hafs STTEET 8 amr Tod

Highest population density State.
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(ili) HRT & BBl IARH TH

Coffee producing State of India
(iv) TIRIST a8

Raniganj Coal Field
(v) IS TEME

Kandla Port

1214/(Set : C)
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el
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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(2) 1214/(Set : D)
o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o FE A T
frd sit dmfoqs 797 & Gkl q¥ el J@re @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % T 37 @ {4 F GEAlEd #Y @ [ Fe7-0F {7 T 78 8, g # I 59
T § Bl A qar & T8 B AIm

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
() @ g7 Iart &

(i) FEOF FIT & F IGH @I 9T T 8

(iii) F97 & TV F7% HHFEN @

(iv) 797 G&IT 26 GRT & TFATT F 907 @ T80T &1

(v) 9RT & T B TE ST FA-YRaE % T Forga @ e

(vi) T GT Y FC-Gika # B T g
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General Instructions :
() All questions are compulsory.

(i) Marks for each question are indicated against it.
(iii) Answer the questions according to their marks.
(iv) Question No. 26 is related to filling the outline map of the India.

(v) After filling the map of the India it should be securely tied in the middle of the

answer-book.

(vi) You must write your Answer-book Serial No. on the map.

T - %
PART - A
Al 39 A B N U 1-1 3% B B

All questions of this part are 1 mark each.

1. ffafad & @ fhd =g § 99 @ IR (%) 3695 F GM 9 G99 9 96T § 7 1

(VIIERE IS
(B) ST UasT
(©) FieH
(D) &

1214/(Set : D) P.T.O.
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In which of the following States the groundwater utilization (%) is more than its
total groundwater potential ?

(A) Tamil Nadu
(B) Andhra Pradesh
(C) Karnataka

(D) Kerala

2. = & q o Rifed & § 9w & g8 5@ e ? 1

(A) ST STUNEH

(B) &I eI

(C) aig AIEA

(D) 9# W f¥ee &1 =@

Which of the following is the main type of Land degradation in irrigated areas ?
(A) Channel erosion

(B) Soil salinity

(C) Wind erosion

(D) Accumulation of silt on the land

1214/(Set : D)
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3. I8 2011 & T & FIER &= & & 6 79 7 T Sae oiua qdies & ¢ 1

(A) TS

9

(B) HeR
(C) W
(D) e

According to the 2011 census, which of the following States has the highest

urban population ratio ?
(A) Tamil Nadu

(B) Maharashtra

(C) Kerala
(D) Goa
4. TOR & SAHI 7o od 7 § § 6 @ 7 i fhg Mg ? 1
(A) TEAT G
(B) foqgd o
(C) o e

(D) SfEnfe g

1214/(Set : D) P.T.O.
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Most of the World's great Collapses have been classified into which of the

following categories ?

(A) Naval Collapse
(B) Extensive Collapse
(C) Oil Collapse

(D) Industrial Collapse

5. fefafad § @ HH-91 AT SHolt Sd & FHIT 0 A 8 7 1
(A) e IEE

(B) TcgMiE &M

(C) Tl &&= JEN

(D) T IE

Which of the following industries is set-up near the energy source ?
(A) Cement industry

(B) Aluminium industry

(C) Cotton textile industry

(D) Sugar industry
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6. Frfmad § & HH-91 TF AMa [ H SUFH 78 o 1

(A) &= R
(B) HETHS =
(C) ¥HF e
(D) 3TN &R Ui

Which one of the following is not an approach of Human Geography ?
(A) Regional Variation

(B) Quantitative Revolution

(C) Spatial Organization

(D) Exploration and Description

7. Trfiied N & 56K § § SF-91 TBR HiT-387 HY B THR 8 7 1
(4) foegd st Fate i
(B) AR A ST P
(C) ST Fafed H

(D) flE

1214/(Set : D) P.T.O.
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Which of the following types of agriculture is slash-burn agriculture ?
(A) Extensive subsistence agriculture

(B) Extensive commerce grain agriculture

(C) Primitive subsistence agriculture

(D) Mixed farming

8. IR el &Y H9-8 §1g q Fepal 8 ? 1

Indira Gandhi Canal originates from which dam ?

9. FHIAHMT T HIH-Ul T4 I SYafed ® ? 1

On which river is Kolkata Port located ?

10. 9Rd & G99 g7 S9Ee IdEH T HF-a1 & 7 1

Which is the largest Bauxite producing State of India ?

1214/(Set : D)
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qT -
PART-B

T ;39 AN F G YT 2-2 1% B 31 UIF U B ¥ 20 T 30 Il F qitwd B

All questions of this part are of 2 marks each. Answer to each question in 20 to
30 words.

11. S UREET & 91 &9 ¢ ? 2
What are the benefits of water transport ?

12. Yo AT & &7 B [ 2
Write three factors of migration degradation.

13. SR g o1 P a9 = g F SR W B 2

Explain the difference between barren land and cultivable waste land.

STeET

OR
TR st & w1 & v sarE
Mention any two characteristics of urban settlements.

14. HFE TN I GRAMT HiFoT 2

Define Human Geography.

1214/(Set : D) P.T.O.
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15. XA & FB T4 7 o Toul P TR 2 TR X Sl 7f 5 7 2
Why is the labour participation rate higher in some states of India than in
others ?

AYAT
OR

ol & AURURSE B HIT-9 & ?

What are the non-conventional sources of energy ?

16. I= SR I & B ? 2

What is high technology industry ?

A - 7
PART - C

dle : 29 97 B 9t U AT ol B &1 UAS U H IAX 50 70 = F % 2

All questions in this part are of three marks each. Answer to each question in

50 to 70 words.

17. 9RA # 5@ dde § doft § ST W ol 3% UGl B B [dae i) 3
Water resources are decreasing rapidly in India. Explain its responsible
factors.

1214/(Set : D)
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18. 9T & oTi¥ie faerg ¥ g% uRaey & Hew @l fad=mr Sifm 3

Discuss the importance of road transport in the economic development of India.

YqT

OR
&I 1 B ? Hed olY Yol Ifadl H SR W Sifg

What is Settlements ? Explain the difference between compact and dispersed

settlements.

19. HFd H JENHT M S 7 3

What is Human Naturalization ?

20. T UERE AR A G § AR W Hif) 3

Explain the difference between nomadic animal husbandry and commercial

animal husbandry.

21. Fgd X oW Fhamamdl § o= SEal 3

Explain the difference between the fourth and fifth activities.

1214/(Set : D) P.T.O.



22.

23.

(12) 1214/(Set : D)

OR
R e ToX FAH A F aw Gl fEE B FerEr 3 & #fF SUE gIEy

Suggest three measures to promote sustainable development in the Indira
Gandhi Canal Command Area.

g foeh STaERT &% STid g9l S ddd uviigdr & 1 998 & ° 3

What is meant by equality and sustainable development under the concept of
human development ?

A -§
PART - D
T AN B G U Ggg 3E B &1 T 99T & S 150§ 170 =i § gifed Bl

All questions in this part are of five marks each. Answer to each question in
150 to 170 words.

qRd & YEIferad & S SlR faaver &1 auie i 5

Describe the production and distribution of petroleum in India.

e

OR
T B FY B ANID SR, IAET AR AT B O Hifr

Describe the geographical conditions, production and distribution of rice
cultivation.

1214/(Set : D)
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24. 91 YgYU % HROT G UNEl B a0 i 5

Describe the causes and effects of Air pollution.

e

OR

ST AR /T B 7 TSI 2UR & YR H1 Juie i)

What is International Trade ? Describe the bases of international trade.

25. SHilhHIg THAOT F1 & ¢ ik HRHT bl Al STaRel @i faaer i 5

What is demographic transition ? Discuss the three stages of demographic

transition.

STeE

OR
AR | SEEl g @ ggfdl @ e it

Discuss the trends of population growth in India.
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a1 - &

PART -E

Fle : I8 N AFEE & 9 G 81 39 AN & KA 9 5

This part is related to map work. Total marks of this part are 5.

26. YT D HARE W kI # E9Iise ¢ 5

Show the following on the map of India :

() RIS BT
Raniganj Coal Field

(i) P TS
Kandla Port

(i) T
Khetri
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(iv) Gaiees e 99 arar o9

Highest population density State.
(v) T 1 I ST oY

Coffee producing State of India
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